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QUESTION 1

A developer wants to create a business interface for both local and remote usage. For performance reasons the remote
interface should NOT be called by a client in the same JVM. Which statement is required to accomplish this, assuming
there is no deployment descriptor?

A. The business methods are defined in one interface which must be annotated with both @Local and @Remote.

B. The business methods are defined twice in one interface. One method is annotated with @Local and the other is
annotated with @Remote.

C. The business methods are defined in a common interface by two other interfaces which are annotated with @Local
and @Remote respectively. The bean implements the super interface.

D. The business methods are defined in a common interface. It is extended by two interfaces, annotated with @I_ocal
and @Remote respectively. Both interfaces are implemented by the bean class.

Correct Answer: D

QUESTION 2

Which statement describes a component definition that is allowed by the EJB 3.0 specification?

A. A stateful session bean that is a Web service endpoint.

B. A stateful session bean that has one remote business interface and is a Web service endpoint.
C. A message-driven bean that has one message listener interface and is a Web service endpoint.
D. A stateless session bean that has three local business interfaces and is a Web service endpoint.

Correct Answer: D

QUESTION 3

A business method of a stateless session bean with a transaction attribute REQUIRED executes a Java Persistence
guery on a container-managed persistence context. Under which two conditions can the developer expect the
persistence provider to ensure that all changes made to the persistence context in the transaction are visible to the
processing of the query? (Choose two.)

A. Theflushmode is NOT explicitly set.

B. Theflushmodeon the Query object is set toCOMMIT.

C. The refresh method on the EntityManager is called.

D. The flush mode on the persistence context issetto AUTO but is NOT specified for the Query object.
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Correct Answer: AD

QUESTION 4

A developer wants to create a Java Persistence query that will include a subquery. Which three are true? (Choose

three.)

A. Subqueries can be used in a FROM clause.

B. Subqueries can be used in a WHERE clause.

C. The ANY expression can be used only with a subquery.

D. The EXISTS expression can be used only with a subquery.
E. The MEMBER expression can be used only with a subquery.

Correct Answer: BCD

QUESTION 5

Given the following client-side code that makes use of the session bean Foo:
10.

@EJB Foo beanl;

11.

@EJB Foo bean2; //more code here

20.

booleantestl = beanl.equals(beanl);

21.

booleantest2 = beanl.equals(bean2); Which two statements are true? (Choose two.)
A. If Foo isstateful,testlistrue, and test2 is true.

B. IfFoo is stateful, testlis true,andtest2isfalse.

C. IfFoo is stateless, testl is true, and test2 is true.

D. IfFoois stateful, testl is false, and test2 is false.

E. If Foo isstateless, testl istrue,and test2 is false.
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F. If Fooisstateless, testl is false, andtest2is false.

Correct Answer: BC
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